Primary
(Unaugmented)
Active
Present Future
Con
Vol  Ending
0o — - w ow'
€ ¢ —  E1G O€1G
€ 1 o€l
0 eV OOUEV
£ TE OcTE
0O vouL — oudol gouot

Indicative Endings Summary

Ist

Perfect
(Redup)

Ko
Kag
Ke
KQUEV
KOTE

Kaot/xav

! Variations: Stops— ), &, G; Liquids (A, I, V, p) — look like
present liquids with circumflex; contract— 10, WO

2
Var

iations: ¢—m, 6—7; Second Perfect— Q

Middle/Passive

Present Mid/Pas Fut 1st Perf

Con Middle Mid/Pas

Vol  Ending

0 pai oopat Hat

€ ogat — 0 on oal

e Tl oeTal Tal

0o peba oopeda neba

e abe oeobe obe

o vTal govTal vTat
1st Fut 2nd Fut
Passive Passive
Onoopat* noopat
Onon
OnoeTat noeTal
Onoopeda noopeba
Onoeabe noeabe
OnoovTat noovTat

Secondary
(Augmented)
Active
Imperf & 2nd Aor Ist
(Pres Stem+ 2nd Aor Aorist
Stem) (Pres
Stem = 1st
Con . Aor Stem
Vol  Ending
o Vv oa®
€ G lofola
€ - o€
O pev oopEV
€  EeTE OaTE
o v ooV

? Variations: Stops—{, &, 0; Liquids
A, 1, V, p)—drop the O

Middle/Passive

Imprf Mid/Pass
& 2nd Aor Mid 1st Aor

C Middle
on

Vol  Ending
o unv oaunv
€ go — oO0u ow
£ TO oaTo
o peba oopeda
€ 0B oaobe
o VTO oavTo
2nd Aor 1st Aor
Passive Passive
nv onv
ns ong
n on
NUeV Onuev
nTe onTe
noav Onoav

*Stems ending in a stop aspirate when followed by 0: M0, B8 — ¢6, k0, ye - X0,

70, 66, 66 — of
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